g (z05) EABERERAD YRR 2 3481 1 A A BIE T
(B 77 BIEEHR) :

1 B
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1010 & 1,249 -3] 1,302 -3 2, 551 -1] 1,047
1020 J& 96 93 189 71
1060 X -4 1,654 -2 1,700 -6 3, 354 -1| 1,245
1070 FH -6| 1,932 -6 1,950 -12 3, 882 -1| 1,567
1080 T HEEHE -3 769 768 -3 1,537 -1 606
1090 XEHH +4 645 +4 632 +8 1,277 +3 477
1100 K[H -5 495 +2 473 -3 968 364
1110 B 80 75 155 51
1120 ZAH 504 -1 584 -1 1,088 +1 452
1130 B9/ g} -1 28 36 -1 64 21
1150 PBE +4| 1,594 -3| 1,592 +1 3, 186 +2| 1,275
1160 FEHh -1 132 121 -1 253 88
1180 =Ff0 +1 633 -3 673 -2 1, 306 -1 504
1200 JR°EX¥—TH +1 468 -1 430 898 -1 279
1210 IFRXE_TH +3 308 +1 292 +4 600 +1 186
1310 E&HT -9 764 -6 751 -15 1,515 -3 604
1320 HAEET -2 471 -2 494 -4 965 -2 413
1330 EFAT +3 501 +5 582 +8 1,083 +1 432
1340 JtET +4 530 +4 535 +8 1, 065 +2 461
1350 =#B—TH 175 +3 172 +3 347 136
1360 =#Bf_TH +1 458 +1 466 +2 924 +2 381
1370 #kHET +2 994 -2| 1,052 2, 046 -2 796
1380 EEHRT +4 695 +5 692 +9 1, 387 +2 551
1390 B _TH -3 548 +2 516 -1 1, 064 -3 482
1400 3—T H -2 285 298 -2 583 -2 264
1410 =TH +3 315 +1 334 +4 649 280
1420 EPUTH 354 -2 365 -2 719 -1 311
1430 JEET—TH -2 284 314 -2 598 -1 264
1440 JEET_TH 426 +3 433 +3 859 337
1450 AR —T H +1 474 -2 521 -1 995 -1 481
1460 HAET T H 217 +1 241 +1 458 197
1470 AR =TH 264 295 559 +1 201
1480 HEAFETPUT H -1 215 247 -1 462 182
1490 T (LET +2 471 +7 483 +9 954 +3 397
1500 FHHET 342 +2 350 +2 692 +4 278
1510 »¥—TH 594 +2 658 +2 1, 252 +5 566
1520 i —_TH +5 632 +1 636 +6 1, 268 +7 532
1530 #EILET—T H -1 245 241 -1 486 229
1540 #RILET_TH 296 -3 330 -3 626 -2 282
1550 ¥5IUAT=TH -4 251 -5 252 -9 503 -2 217
1560 ‘= RiHT +1 496 -1 490 986 400
1570 P BT 343 -1 363 -1 706 +4 296
1580 JFFHT -1 276 321 -1 597 250
1590 FHBT—TH +1 304 335 +1 639 291
1600 AET—T H -1 438 437 -1 875 393
1610 A<ET_TH -1 365 -1 320 -2 685 311
1620 ABT=TH -3 414 -1 418 -4 832 -1 373
1630 AETPIT H +1 974 -3] 1,026 -2 2, 000 -2 862
1640 HRET_TH +1 235 +1 247 +2 482 +2 201
1650 FRET=T H -4 289 -2 310 -6 599 -2 252




g (zns5) EAREAD ERL2 3461 1 AKABAE R

(F Fr BIEHR) -

B Y % s -

1660 SHET 233 -1 252 -1 485 -1 213
1670 HXHET +3 547 -3 576 1,123 +4 459
1680 =HT +1 765 +3 764 +4 1,529 +1 627
1690 JEHT -1 736 +1 704 1, 440 633
1700 BEAHT +2 748 +6 774 +8 1,522 +2 631
& H X -7 28,551 +1] 29, 316 -6 | 57,867 +16] 23,699
i 3t -14| 72,383 +1| 71,932 -13 | 144,315 +63| 55, 124




B (205) EABERAO TR 2 341 1 AKAHE A
(FE Br BIEEHEK)
3 B
£ B ) L8 B JLIR

2110 EXE -9 771 -4 780 -13 1, 551 -2 497
2120 fa'= -1 389 -3 361 -4 750 -2 250
2130 /N +1| 1,914 -1| 1,970 3, 884 +6| 1,469
2140 B§F +2 1, 856 1,721 +2 3,577 2| 1,524
2210 AHE +7 1,425 +9] 1,362 +16 2, 787 +8] 1,024
2220 FKXE +1| 1,828 1,798 +1 3, 626 +1] 1,222
2230 MHE +3 519 +3 464 +6 983 +1 326
2240 B4 -1 578 -2 602 -3 1,180 375
2250 =E +1 479 465 +1 944 +1 295
2310 FRim +3 611 +1 585 +4 1,196 +3 383
2320 B +1 771 +4 753 +5 1,524 +2 540
2330 WHFHHE 97 70 167 62
2340 b3 79 63 142 49
2350 EaItR -6 2,315 -1 2,193 -7 4,508 -1 1, 752
2360 7K¥E +5 1,119 -3 1,081 +2 2, 200 72
2370 HIAK -1 433 -6 467 -7 900 264
2410 R, +9| 3,659 +9| 3,489 +18 7,148 +12] 2,904
2420 FAR, -3] 1,131 -6 1,060 -9 2,191 -3 823
2430 Kig 675 +1 646 +1 1,321 +1 509
2440 WAL -1 1,193 +5] 1,100 +4 2,293 +3 887
2450 WA +2 727 -1 673 +1 1, 400 -2 542
2460 XA -6 2,390 +1| 2,310 -5 4,700 +5| 1,782
SFnHL X +7] 24,959 +6| 24,013 +13 | 48,972 +31| 18,251
A 2t -14| 72,383 +1] 71,932 -13 | 144,315 +63| 55, 124




gX (z05) EAREAD FRR2 341 1 AKBEE HTH
(B F7 RIEEHE)
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3010 E&)II +2 3,938 -3 3, 940 -1 7,878 +3 2,958
3020 FHE -1 140 133 -1 273 103
3030 FFfuH -2 284 264 -2 548 -1 162
3040 Ef5A -1 460 -2 443 -3 903 +1 309
3050 FAH +2 506 +3 510 +5 1,016 +4| 363
3060 FHH +4 314 +1 286 +5 600 +1 214
3070 KFnH -2 653 -1 681 -3 1,334 +1 460
3080 FrFnH -1 136 132 -1 268 -1 78
3090 =3 -7| 2,148 -1 2,138 -8 4,286 -2 1, 549
3100 EEEE)I | 503 528 1,031 +2 354
3110 ¥ LM +5 3,112 -2 3,002 +3 6, 204 +1| 2,145
3120 & H 611 588 1,199 +1 409
3130 [LH -4 782 -1 746 -5 1,528 499
3140 dtiliH 154 168 322 115
3150 EA=MEH 371 +7 352 +7 723 +2 227
3160 B4 725 -1 681 -1 1, 406 419
3170 BRI -9 3,274 -5| 3,145 -14 6,419 +2| 2,294
3180 £ H 47 45 92 28
3200 R H1E 130 +1 124 +1 254 +1 81
3210 FEEIHRE -1 97 98 -1 195 57
3220 PEE 1B +1 408 -2 422 = 830 # 306
3230 JkREIH#E 80 87 167 44
=Fnh X -14| 18,873 6| 18,603 -20 | 37,476 +16] 13,174
i =t -14| 72,383 +1| 71,932 -13 | 144,315 +63| 55, 124




